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Grade 2 - Unit 3: Basic Facts and Relationships
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Targets
A = Achieved Target
NA = Nearly Achieved Target
D = Did Not Meet Target


                   

-------------------------------------------------------Target 1 ------------
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  6.) Explain how you know.  Show your reasoning for your
       choice in problem number 5 above.
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--------------------------------------------------------Target 2 --------
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12.) Find the sum of these numbers: 4, 3 and 6.  Add them in an order that makes sense to you.  Write them in the number model the way you added them.

	_______ + _______ + ________ = ________
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	(Target 3)
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---------------------------------------------------------------Target 3------
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         Show your work.
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	Show your work.
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	Show your work.
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17.) 

 



	Show your work.
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	Show your work.
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	Show your work.
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	  Show your work. 
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------------------------------------------------------------------Target 4---
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23.)




	Show how you solved the problem.
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	Show how you solved the problem.






25.)  Draw a picture that represents the number model below
         and then write a number story to go with the picture.

		            2 + 2 + 2 + 2 = 8
[bookmark: _GoBack]
image4.png
Mia has 8 magnets. Rob has
7 magnets.

Which doubles fact can you
use to find how many magnets
they have in all?

09+9=18
o8+8=16
ob+6=12

05+5=10
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Which shows a way fo find
the sum?

8+5=____
ol0+3=13
ol0+5=15
olo+6=16

ol0+8=18
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- What is the missing number in
the related subfraction fact?

6+5=11
I—6=
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-Write a related subtraction fact
for5+7=12.
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What is the sum?

5+6+7=____

oll
ol3
olé
ol8




image9.png
Janie has 4 toy dogs, 3 toy
cats, and 3 toy bears. How
many toys does Janie have
inall?
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What is the sum?

|\lo)o~





image11.png
Sara picks up 8 blocks and 7 dolls. Then she picks
up 2 balls. How many toys does Sara pick up?

—_toys

Use numbers, pictures, or words to show one way
fo solve.




image12.png
How many more blocks than balls does Sara
pick up?

— more blocks

Use numbers, pictures, or words to show how you
found your answer.
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There were 7 ducks on a pond.
Some more ducks joined them.
Then there were 12 ducks on
the pond. How many ducks
joined them?
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Ally has 12 dimes. Louis has 5
dimes. How many more dimes
does Ally have than Louis?




image15.png
Sally counts 7 stars. Mike
counts | more star than Sally.
How many stars do they count
inall?




image16.png
Jake has 16 erasers and
7 pencils. How many more
erasers than pencils does
Jake have?




image17.png
There are 12 toys in a box.
Then Ellen takes some toys
out of the box. Now there are
8 toys in the box. How many
toys did Ellen take out of

the box?




image18.png
There are 9 birds in a free.
Then 6 more birds go in the
tree. How many birds are in
the tree altogether?




image19.png
Amy has 12 leaves. Max has
Y4 leaves. Write a number
sentence to show how many
fewer leaves Max has than
Amy.

0 0O__




image20.png
Lucy had 13 pens. She gave
5 of them to Hank. How many
pens does Lucy have now?
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Abe needs | | football stickers. He has 2 stickers.
How many more stickers does Abe need?

stickers

Show how you solved the problem.
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Chris has 3 rows of plates.
There are 5 plates in each row.
How many plates are there
inall?
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Tania has 3 rows of stickers.
There are 4 stickers in each
row. How many stickers does
Tania have in all?
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What is the sum?

7+3
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What is the difference?

I4—-9




image3.png
Which shows a way fo find the
difference?

15—-6=___
ol0—1=9
ol0—-4=6
ol0—-5=5

olo—-6=4





Grado 2

Targets

-
P
What is the sum? ) What is the difference?

7+3 -9

Which shows away fo find the
difference?

15-6
olo-1=9
0l0-4=6
0l10-5=5

0l0-6=14




